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ED–2756 

B. Sc./B. Sc. B. Ed. (Part III) 

EXAMINATION, 2021 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours 

Maximum Marks : 33 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory.  

bdkbZ&1 

(UNIT—1) 

1- ¼v½ fuEufy[fkr esa ls dkSu&lk dkcZ?kkfRod ;kSfxd ugha gS \ 1 

(i) 2 5 4
Pb C H   

(ii) 2 5 2
C H Zn   

(iii) 3CH Mg Br   

(iv) 3CH COONa   



 [ 2 ] ED–2756 

Which of the following is not an organometallic 

compound. 

(i) 2 5 4
Pb C H   

(ii) 2 5 2
C H Zn   

(iii) 3CH Mg Br   

(iv) 3CH COONa  

¼c½ dSls izkIr djsaxs ¼dksbZ rhu½ % 3 

 (i) fxzxukMZ vfHkdeZd ls Fkk;ks ,Ydksgy 

(ii) fxzxukMZ vfHkdeZd ls r`rh;d ,Ydksgy 

 (iii) Mkb,fFky ftad ls fu;ks isUVsu 

(iv) ,fFky fyfFk;e ls gkbMªksdkcZu 

How will you obtain following (any three) : 

(i) Thio alcohal from grignard reagent 

(ii) Tertiary alcohol from grignard reagent 

(iii) Neopentan from Diethyl zinc 

(iv) Hydrocarbon from ethyl lithium 

¼l½ dkcZfyfFk;e ;kSfxd ls vki dhVksu ,oa ,ehu dSls 

cuk;saxs \  3 

How will you prepare ketone and amine from 

organolithium compound. 
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vFkok 

(Or) 

¼v½ Dystu la?kuu dh fØ;kfof/k fyf[k,A 3 

Write the mechanism of claisen condensation. 

¼c½ fuEufyf[kr ;kSfxdksa dks izkIr djus dh jklk;fud 

vfHkfØ;k nhft, % 2 

 (i) ,lhVks,flfVd ,LVj ls ,Mhfid vEy 

(ii) esyksfud ,LVj ls flUusfed vEy 

Give chemical reactions to obtain following 

compounds : 

(i) Adipic acid from acetoacetic ester 

(ii) Cinnamic acid from malonic ester 

¼l½ lYQksfud vEy ds cukus dh fof/k ,oa xq.k le>kb, % 2 

Explain method of preparation and property of 

sulphonic acid. 

bdkbZ&2 

(UNIT—2) 

2- ¼v½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

 (i) fdfy;kuh fQ’kj la’ys”k.k 

(ii) ,ihejhdj.k 
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Write short notes on the following : 

(i) Killiani fischer synthesis 

(ii) Epimerisation 

¼c½ esfFkyhdj.k fof/k ls Xywdkst ds oy; vkeki dk fu/kkZj.k 

dSls djrs gSa 3 

How the size of ring of glucose is determined by 

methylation method ? 

¼l½ fuEufyf[kr ;kSfxdksa esa ls dkSu&lk ;kSfxd VkWysu 

vfHkdeZd dks vipf;r dj ldrk gS \ 1 

 (i) lqØksl 

(ii) LVkpZ 

 (iii) ySDV+kst 

(iv) lsyqyksl 

Which of the following compound can reduce 

Tollen’s reagent. 

(i) Sucrose 

(ii) Starch 

(iii) Lactose 

(iv) Cellulose 

vFkok 

(Or) 

¼v½ izksVhu dh izkFkfed ,oa f}rh;d lajpuk dks le>b,A 3 

Explain primary and secondary structures of protein. 
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¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

 (i) fToVj vk;u 

(ii) fuugkbfMªu ijh{k.k 

Which short notes on the following : 

(i) Zwittor Ion 

(ii) Ninhydrin test 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ la?kuu cgqydhdj.k dh fØ;kfof/k fyf[k,A 3 

Write the mechanism of condensation 

polymerization. 

¼c½ ;ksxkRed ,oa la?kuu cgqydhdj.k esa vUrj dks mnkgj.k 

lfgr le>kb,A 3 

Explain the difference between addition and 

condensation polymerization with suitable 

examples. 

¼l½ fu;ksizhu cgqyd dk eksuksej gS % 1 

 (i) vkblksizhu 

(ii) Dyksjksizhu 

 (iii) ,sLizhu 

(iv) ,fMfid vEy 

Neoprene is a polymer of : 

(i) Isoprene 

(ii) Chloroprene 

(iii) Asprin 

(iv) Adipic acid 
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vFkok 

(Or) 

¼v½ fuEufyf[kr jatdksa dks cukus dh fof/k ,oa mi;ksx fyf[k, 

¼dksbZ nks½ % 3 

 (i) fQuk¶Fksyhu  

(ii) ,fytkfju 

 (iii) dkWxksjsM 

Write method of preparation and uses of following 

dyes (any two) : 

(i) Phenophthaleen 

(ii) Alizarin 

(iii) Congored 

¼c½ jax ds la;kstdrk ca/k fl)kUr dks le>kb,A 3 

Explain the valence bond theory of colour. 

¼l½ fdlh inkFkZ esa jatd ds :i esa dk;Z djus ds fy, fuEu 

dk gksuk vko’;d gS % 1 

 (i) ØkseksQksj 

(ii) vkDlksØkse 

 (iii) Øksekstu 

(iv) buesa ls dksbZ ugha 

Which of the following is essential for a substance 

to work as a dye : 

(i) Chromophore 

(ii) Oxochrome 

(iii) Chromogen 

(iv) None of these 
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bdkbZ&4 

(UNIT—4) 

4- ¼v½ ijkcSaxuh LisDVªksLdksih esa fofHkUu bysDVªkWfud laØe.kksa dks 

mnkgj.k lfgr le>kb,A  3 

Explain the different electronic transition in UV 

spectroscopy with suitable examples. 

¼c½ oqMoFkZ rFkk Qkbtj ds vkuqHkkfod fu;e dh lgk;rk  

ls fuEufyf[kr ;kSfxdksa ds max  dh x.kuk  

dhft,A  2 

 

 

 

 

 

Calculate the max  value of given compounds  

with the help of Woodward-Fieser empirical  

rule : 
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¼l½ fdl ;kSfxd dk max  223 nm gksxk \ 1 

 (i) ,fFkyhu 

(ii) 2&esfFky izksisu 

 (i) 1]4 isUVkMkbu 

(ii) 1] 3 isUVkMkbu 

The compund having max  223 nm is : 

(i) Ethylene 

(ii) 2-methyl propane 

(iii) 1, 4 pentadiene 

(iv) 1, 3 pentadiene 

vFkok 

(Or) 

¼v½ rjax la[;k dks ifjHkkf”kr dhft, rFkk mldh bdkbZ 

crkb,A  1 

Define wave number and give its unit. 

¼c½ IR LisDVªk esa v.kqvksa esa fofHkUu izdkj ds daiuksa dks lfp= 

le>kb,A 2 

Explain different types of vibrations found in 

molecule in IR spectra with diagrams. 

¼l½ vki fuEufyf[kr dks muds vojDr LisDVªk ¼IR LisDVªk½ 

}kjk dSls foHksn djsaxs % 3 

 (i) ,fFky ,Ydksgy ,oa MkbZ,fFky bZFkj 

(ii) ,slhfVd ,flM ,oa ,fFky ,lhVsV 

 (iii) ,lhVSfYMgkbM ,oa ,lhVksu 
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How will you distinguish between the following 

compounds by their IR spectra : 

(i) Ethyl alcohol and deithyl ether 

(ii) Acetic acid and ethyl acetate 

(iii) Acetaldehyde and Acetone 

bdkbZ&5 

(UNIT—5) 

5- ¼v½ fuEufyf[kr esa ls izR;sd ;kSfxd vius NMR LisDVªe 

fdrus flXuy nsxk \    2 

 (i) ,fFky czksekbM 

(ii) VkyqbZu 

How many signals would each compound give in its 

NMR spectrum ? 

(i) Ethyl bromide 

(ii) Toluene 

¼c½ rqY; vkSj vrqY; izksVksu dks le>kb,A 2 

Explain equivalent and non-equivalent protons. 

¼l½ ;qXeu fLFkjk¡d ij ,d fVIi.kh fyf[k,A 2 

Write short note on compelling constant. 
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vFkok 

(Or) 

¼v½ 
13C NMR  lfØ; gS tcfd 

12C  ugha le>kb,A 2 

13C NMR is NMR active while 
12C is not. 

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

 (i) jlk;fud foLFkkiu 

(ii) TMS 

Write short notes on the following : 

(i) Chemical shift  

(ii) TMS 
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